GR 5 U1 HW 7-11 
 


KEY
GR 5 U1 HW 7
 

A.  Practice your multiplication facts of 9 (online or with an adult).   

B.  Evaluate (a)     30 – 8 × 3


(b)       45 ÷ (6 + 3)

      

        6




  5
C.  Write 500 as the product of five prime numbers.    2 × 2 × 5 × 5 × 5
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A.  Practice the facts of any factor that you need more practice with.  

B.  Evaluate (a)     30 ÷ (11 – 5) + 7
    (b)       45 + (9 × 3) – 17 




12



55

C.  Insert parentheses to make the sentence true:

     (a)       (18 + 2) × (11 – 8) = 60  

    (b)  
     18 + 2 × (11 – 8) = 24
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Name _________________________________

Date ___________

A.  List all factors of 64.

1, 2, 4, 8, 16, 32, 64
      Express 36 as the product of 4 prime factors.  2 × 2 × 3 × 3

B. Insert parentheses to make the sentence true:

          (a)       33 – 18 ÷ (3 + 6) = 31  

    (b)  
     (33 – 18) ÷ 3 + 6  = 11

C.  Use the numbers 1, 4, 8, and 7 once and any operations to get an answer of 3.  


One possible: (8 – 7) × (4 – 1)

      Use the numbers 1, 4, 8, and 7 once and any operations to get an answer of 15.


One possible: 8 ÷ 4 × 7 + 1 
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A.  Write six different multiplication facts (using no numbers greater than 12 as factors) that have products between 41 and 50 (do not include 50).  



Possibilities include 7 × 6 = 42, 5 × 9 = 45, 4 × 11 = 44, 4 × 12 = 48, 6 × 8 = 48 and any of the 
“turnaround” facts

B.  Evaluate (a)     40 ÷ 5 + 3 × 7 - 4


(b)       40 ÷ (5 + 3) × (7 – 4)




25





15

C.  Use the numbers 1, 4, 8, and 7 once and any operations to get an answer of 2.  


One possible: (4 – 1) − (8 – 7) 

      Use the numbers 1, 4, 8, and 7 once and any operations to get an answer of 5.

     
One possible: (8 + 7) ÷ (4 – 1)
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A.  Multiply by any method you choose:  


(a)    73 × 8 = 584

(b)     409 × 6 = 2454

(c)  25 × 34 = 650
B.  Write a numeral for: 


(a) 12 hundreds and 7 tens
(b)   Four hundred seventy thousand sixty-two



1270




470,062

C. Which is greater, 4.2 or 4.19?  Explain how you know. Sample answer: 4.2 > 4.19 because 4.2 = 4.20, and .20 > .19 (20 hundredths > 19 hundredths)
D.  Which point (A, B, C, or D) on the line below could be 0.56?  Explain.




     0
        A                    B                 C

            D             1


C, because .56 is a little more than  0.5, which is halfway between 0 and 1.
